Name: Week 37 Session 4
Times Tables 2,3,4,5,6,7,8,9,10,11,12 2020-21
. Full Program me
Rock Stars Times Tables 5 aweek
Leensed to Fanske Junor School
1 44+4= 21 32:4= 4 30+5=
2 24+3= 22 132+11= 42 554+11= Time taken
3 50+5= 23 24+2= 43 63+7=
E— EE— %0 3 minute time limit &
4 20+2= 24 54+09= 44 40+8=
E— E— Score
5 110+10= 25 36+12= 45 21+3=
6 40+8= 26 2+4= 46 55+11= 60
7 24+6= 21 132+11= 47 3%+12=
S —— What's your rock status?
8 24+8= 28 B4 +7= 48 4+2=
WANNABL
g 16+2= 29 24 +2= 49 g +11= =< LB comect in 3 mins
<ARAGE ROKTR
10 1720+ 12 = 30 18 + 3= 50 45 + 5 = 18-19 correct in 3 mins
BUSKIR
11 132+12= N 14 +7= 51 33+3= 20-21 correct in 3 mins
<IG4ER
12 44 + 11 = 32 M+4= 52 24 +72= 22-24 correct in 3 mins
— — UNHGNED AT
13 g+3= 33 18 +6= 53 B+4= 2529 cormect in 3 mins
BRUAKTHROUGH ARTIST
14 24+3= 34 11+11= 54 0+5= 30-35 correct in 3 mins
FUPPORT AQT
15 Ir+3= 35 55+ 11 = 55 14+ 7 = 36-44 correct in 3 mins
HIAPUNER
16 120 +10 = 36 121+11= 56 54 + 6 = 45.59 correct in 3 mins
17 63 +9 = 37 24 +3= 57 40+ 5 = Allcormect in = 3mins
Rodk LEGIND
18 3IB+9= 38 96+ 12 = 58 108 +9 = Allcorrectin = 2min
Rodk HiRo
19 36+ 12 = 39 14+2= 59 12+ 6= Allcorrectin = 1 min
TUHEY TABLEY
20 132+12= 40 B6+4= 60 11+11=

qok TR



Name:

Times Tables

Rock Stars

2,3,4,5,6,7,8,9,10,11,12

Times Tables

Licensed to Fairisle Junior School

1

10

11

12

13

14

15

16

17

18

19

20

44 +4=11

24+3=8

50+5=10

20+2=10

110+ 10=11

40+8=5

24+6=4

24 +8=3

16+2=8

120+ 12 =10

132+12=11

44+11=4

9+3=3

24 +3=8

36+3=12

120+ 10 = 12

63+9=7

36+9=4

36+12=3

132 +12=11

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

32+4=8

132+ 11 =12

2+2=1

54 +9=6

36+12=3

24 +4=6

132+ 11 =12

B4+7=12

24+2=12

18+3=6

14+7=2

20+4=5

18+6=3

11+11=1

55+11=5

121 + 11 =11

24 +3=28

96+12=28

14+2=7

36+4=9

41

42

43

44

45

46

47

48

49

50

51

52

53

54

35

56

57

58

59

60

30+5=6

55+11=5

63+7=9

40+8=5

21+3=7

55+11=5

88+11=28

45 +5=19

33+3=11

24 + 2 =12

28+4=17

30+5=6

14+7=2

54+6=9

40 +5=8

108 +9=12

12 +6=2

11+11=1



